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	Section – A

	Q1
	 Use the following structure of Employee table to answer the following questions

Column Name 

EmpID

EmpName

EmpAdd

EmpPhno

EmpSal

Gender

DeptID

Key Type

Primary

Check (‘M’ or ‘F’)
Foreign

Nulls/ Unique

Not Null

Not Null

Default ‘F’
Foreign Table

Department

Frgn Column

Dept_ID

Datatype
Number
Varchar2
Varchar2
Varchar2
Number
Char
Varchar2
Length 

6

20

20

10

9,2

1

6


	
	(a).
	Write the SQL Command to create the above table including its Constraints
Ans: 

SQL> CREATE TABLE XI_IPTEST(EmpID NUMBER(6) PRIMARY KEY,EMPNAME VARCHAR2(20) NOT NULL, EMPADD  VARCHAR2(20),EMPPHNO VARCHAR2(10), EMPSAL NUMBER(9,2) NOT NULL, GENDER CHAR(1) DEFAULT 'F', DEPTID VARCHAR2(6) REFERENCES DEPARTMENT(DEPT_ID),CHECK(GENDER IN('M','F')))
	3

	
	(b).
	Write a Two SQL code to modify all the EmpName by joining INSER  ‘Mr.’ before each EmpName if Gender is ‘M’ and joining ‘Ms.’ before each EmpName if Gender is ‘F’.
Ans.

1. UPDATE XI_IPTEST SET EMPNAME ='MRS.'||EMPNAME WHERE GENDER='F';
2. UPDATE XI_IPTEST SET EMPNAME ='MR.'||EMPNAME WHERE GENDER='M';
	3

	
	(c).
	Write a SQL code to modify all the Employee Address  by removing ‘Kendriya Vidyalaya’ if it starts with ‘K.V.’ and Department ID is ‘STUDDY’
Ans. UPDATE  XI_IPTEST SET EMPADD='KENDRIYA VIDYALAYA'||SUBSTR(EMPADD,5) WHERE

SUBSTR(EMPADD,1,4)='K.V.'
	3

	
	(d)
	Write a SQL Query to Modify above table structure to increase a column “EmpPhno” size with 2 e.g. (10+2=12) and also apply a NOT NULL Constraint on its. 
Ans.ALTER TABLE XI_IPTEST MODIFY(EMPPHNO VARCHAR2(12) NOT NULL);
	2

	
	(e).
	Write a SQL Query to add above table columns “Comm” structure with Check (comm< empsal) constraint using Alter Command.

Ans. ALTER TABLE XI_IPTEST ADD(COMM NUMBER(7,2) CHECK(COMM<EMPSAL)); 
	2

	
	(f)
	What are Data Dictionary and Transaction? 
Data Dictionary:- A data dictionary contains a list of all files in the database, the number of records in each file, and the names and types of each field. Most database management systems keep the data dictionary hidden from users to prevent them from accidentally destroying its contents. 

Data dictionaries do not contain any actual data from the database, only book keeping information for managing it. Without a data dictionary, however, a database management system cannot access data from the database. 

Transaction:- A transaction in SQL (structured query language) is a larger unit of database processing that contains one or more database access operations like insertion ,deletion, retrieval and modification operations
Transaction has following characteristics:-1. Atomicity 2. Isolation 3. Durability 4. Consistency preservation 
	2

	
	(g)
	Write a Definition, Syntax and suitable SQL example of following function:-
i. TO_CHAR ():- The TO_CHAR () function converts a number or date into a string.
Syntax:- TO_CHAR( VALUE, [ FORMAT_MASK ], [ NLS_LANGUAGE ] )
Example. TO_CHAR(1210.73, '$9,999.00') WOULD RETURN '$1,210.73'
ii. TO_DATE():-The TO_DATE() function converts a string to a date.
       Syntax: TO_DATE( STRING1, [ FORMAT_MASK ], [ NLS_LANGUAGE ] )
        Example. TO_DATE('2003/07/09',’MMM DD, YYYY)  IT RETURN   JULY 9, 2003
iii. DECODE():-The decode function can be used in SQL for and IF-THEN-ELSE construction. 
   Syntax: DECODE(expr, search, result[, search, result ]...[, default ])

       Example. SELECT supplier_name, decode(supplier_id, 10000, 'IBM',  10001, 'Microsoft',  10002, 'Hewlett Packard',  'Gateway') result FROM suppliers;

	1

1

1

	

	
	Consider the following tables Employee and salary. Write SQL commands for the

statements (i) to (iv) and give outputs for SQL queries (v) to (viii)
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	(i) .
	To Display The Total No. Of Employees in Sex Wise Ascending order.
SQL> SELECT COUNT(*) FROM EMPLOYE GROUP BY SEX;
	1

	
	(ii).
	To List The Names, DA, HRA, Sex  Of Those Employees Only Whose Post Graduate Qualified
SQL> SELECT NAME,DA,HRA,SEX FROM EMPLOYE, SALRY WHERE  SUBSTR(QUALIFICATION,1,1)='M' AND EMPLOYE.EID=SALRY.EID;
	1

	
	(iii).
	To Add A New Column In Salary Table. The Column Name Is Total_Sal.
SQL>  ALTER TABLE SALRY ADD(Total_Sal NUMBER(9,2));


	1

	
	(iv).
	To Store The Corresponding Values In The Total_Sal Column.

Where,  Tot_Sal = Basic+DA+HRA+Bonus

SQL>UPDATE SALRY SET TOTAL_SAL=BASIC+DA+HRA+BONUS ;
	1

	
	(v).
	Select Name From Employee Where Eid = ( Select Eid From Salary Where

Basic= (Select Max(Basic) From Salary));

NAME

-------

Jyoti
	1

	
	(vi).
	Select Max (Total_Sal) From Salary Where Total_Sal >1840;

MAX(TOTAL_SAL)

--------------

         10879
	1

	
	(vii)
	Select Count(*) From Employee, salary ;
  COUNT(*)

----------

        36
	1

	
	(viii)
	What above query run successfully? If Yes, then Give output other Give the Region of failure.  Select Eid, name, bonus from Employee , salary;
SQL> Select Eid, name, bonus from Employee , salary;

Select Eid, name, bonus from Employee , salary

       *

ERROR at line 1:

ORA-00918: column ambiguously defined
	1

	Section – B


	Q3
	Read the following case study and answer the questions that follows:

	
	With Example, Differentiate between(two points)

	
	a).
	Having and Where clause  
HAVING

WHERE
The HAVING clause is used in combination with the GROUP BY clause. It can be used in a SELECT statement to filter the records that a GROUP BY returns.

WHERE clause is used to impose condition on SELECT statement as well as single row function 
The HAVING clause selects rows after grouping
The WHERE clause selects rows before grouping
SELECT department, MIN(sal) FROM emp GROUP BY department HAVING MIN(sal) = 35000;

SELECTA DEPARTMENT, AVG(SAL)

FROM   EMP WHERE EMPNO > 7900

	2

	
	b)
	Truncate and delete command 
Truncate

Delete
TRUNCATE is a DDL command and cannot be rolled back
DELETE is a DML command and can be rolled back

TRUNCATE is much faster than delete 

Slow rather than truncate 

TRUNCATE removes all the rows from the Table
You  can delete selected no of records from table using DELETE command

Actually, TRUNCATE does not remove data, but rather deallocates whole data pages and removes pointers to indexes. The data still exists until it is overwritten or the database is shrunk
DELETE command the data for each row affected by the statement in the transaction log and physically removes the row from the file, one row at a time.

Both commands accomplish identical tasks (removing all data from a table)

	2
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